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types do not unify: (TCon (Tycon "Prelude.Int" Star),TCon (Tycon "Prelude.Integer" Star))
LBBEDBINI BT —ARMESTHAT 2,

$ ./test-compile.sh testcases/intlit.hs
source file: testcases/intlit.hs

dst dir: /intlit

doCompile ... done.

implicitPrelude ... done.

doCompile ... bunnyc: types do not unify: (TCon (Tycon "Prelude.Int" Star),TCon (Tycon "Prelude.Inte
HEOYT

2020-04-22 (Wed)
intlit.hs :

f :: Int -> I0 O

f x = print x

main = £ 10

Core0:

---- ddumpCore ----
(Main.main :: (Prelude.I0 ())) =
((Main.f :: (Prelude.Int -> (Prelude.I0 ())))



(10 :: Prelude.Integer))

(Main.f :: (Prelude.Int -> (Prelude.I0 ()))) =
\(_Main.f.U1l :: Prelude.Int) ->
((Prelude.print :: ([Prelude.Show t0] :=> (tO -> (Prelude.I0 ()))))
(_Main.f.Ul :: Prelude.Int))

bunnyc: types do not unify: (TCon (Tycon "Prelude.Int" Star),TCon (Tycon "Prelude.Integer" Star))

B TF)VD 10 A (10 :: Prelude.Integer) RONEMNL, ZhE, TABRIE%E LD,
trCore {ZdH > 7= :

trExpr2 (Ty.Lit (Ty.LitInt n)) = return e
where

e = Lit $ LitInt n tInteger

Typing.tiLit %> T2 & 51Z, Num a => a IZURZIFHIXN TR ¢

tilit (LitInt _) = do v <- newTVar Star

return ([IsIn "Prelude.Num" v], v)

F9. Core SFEDMHEL U T, Literal iZ Type UMNDWTWANSZDT, THE Qual Type IZZEZ 5,
FIENLIIEEL T, make check /SAT 3 Z & &R,
DI, BERYTINIDIIREEZ D,

trExpr2 (Ty.Lit (Ty.LitInt n)) = do
v <- newIVar’ Star

return (Lit (LitInt n ([IsIn "Prelude.Num" v] :=> v)))
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e intlit.hs -> samplel54

e adt-sample2 -> samplel55

e adt-sample3 -> samplel56

e infix_add_mul3 -> samplel57
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